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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
were fra ey ey foa

(@) What is inflation?
RIS 2

(b) What is liquidity trap?
SR F 2

(c) What is meant by value of money?

@R Y& Ted 2
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(d)

(e)

(9)

(h)

i)

0)
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(2)

Give the meaning of trade cycle.

qfafeTe v =01 for4n |

Mention the motives behind the demand
for money.

R ofm R F0 SRR (SfSem)
g 41

What is cost-push inflation?

AT TGS AR 5 2

Mention one measure of controlling
business cycle fluctuations.

AR v&re FIFRR bl 7% Seard 41 |

What is the shape of the LM curve?
LM @¥erH S 2

State a drawback of the IS-LM model.
IS-LM 133 @61 SppfRen Seard 3941 |

Mention a similarity between cash
balance approach and cash transaction
approach to the quantity theory of
money.

TR ARG ©gI Fom AR SE AT A
ST IE® T 61 AP SeEd 1 |

( Continued

(3)

2. Answer the following questions : 2x5=10
were il eRpTRe Te frar «
(a) Show with a diagram the various phases

(b)

()

(@)

(e)
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of a business cycle.

foqa szrrs fafEre v AN s |

Mention two major causes of inflation.

JarIST 2y 761 F1R SCE 41|

State the condition of equilibrium in the
money market.

T IR SIIE 56 SCEy 41 |

Define IS curve and LM curve.

IS @4 =& LM (@I[ wge faa |

State Robertson’s cash balance
equation.
WO 75 R ANFIIET Temy 3997 |
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(4)

3. Answer any four of the following questions :

S5x4=2(

©T PTG BifReE T fors

(@) Why is the cash balance equation
(M = PKT) of the quantity theory of

(b)

(©)

(d)

A7/842

money regarded superior to the cash
transaction equation (MV = PT)?

TR o we A AR A
(M=PKT)@1  #om  @Fo@ e

(MV = PT) @3 T 31 79 /1 =20 ?

Discuss whether there is a relationshlz
between increase in money supply an
inflation.

TR~ 3fe oo JErRfed e SR ¢
TR, STCATG 34T |

Discuss the impact of inflation on
pProduction and distribution.

B W Roaem @oRS ErRIed o[
SCTS %047 |

What are the basic characteristics of a
business cycle?

fAfETF v (it cafi®r a1 @I &2

(e)

(S)

Why does the IS curve slope downward?
IS @3 R g =2

Briefly explain the structuralist view of
inflation.

TErPIST STeRe {RACO! B9LF T 9 |

4. Answer any four of the following questions :

- 10x4=40

oo PR R e vifiem Teg fo

(@)

(b)

(c)

( Continued ) A7/842

Explain the liquidity preference theory of
interest. What are its limitations?  7+3=10

TR ORen A SGhl WO I WR
SpifRePTR & 2

What is inflationary gap? Explain

inflationary gap with a diagram. 2+8=10
TR S 1 FE 57 B R
TP SR 1 F1 T 1 |

Explain Fisher’s equation of exchange.
Does it provide an adequate explanation
of the changes in the value of money?

7+3=10

R R Rt o 41 1% @R o
IR Rt AR T 2
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(7
(6) ,

(g) Explain the nature of demand-pull

(d) Discuss Cambridge equation for the inflation. What measures would you
determination of value of money. Do you suggest to control such inflation? 5+5=10
think this equation is superior to the B SR R
Fisher’s equation? Give reasons.  6+4=l A Z ¥ Rl

JErRIS g™ e o & <" SeReem 2
TR o0 PR @fEe S =00 7401
@3 NI BrrEd ARNToE Tae e o} (h) Discuss Hicks’ theory of business cycle. 10
191¢ ? |
5 FIR A f2a5q S 5 OGO S 41 |
(e) “The trade cycle is purely a monetary (e, ..

A7/842

phenomenon.” Explain this statement of
Hawtrey. Do you agree with what
Hawtrey has stated about the causes of
trade cycle? Give reasons. 6+4=]

‘I v& <1 CNEF To1 TG 177 TG @R
FIFR WG 940 | MRS 5ER FRA A
i 259 @3 Jome PR WA ETEGT? FRT
O[T |

How is the LM curve affected by the
change in the money supply and the
demand for money? Show it graphically.

LM G Red Y@ QA S 3@ o1
ARTET a1 IS 7 7 B FHS TS |
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